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31. The perimeter of a rectangle i@nches‘ The width is 7 inches shorter than the{length) What are
the length and width of the rectangle?

| L |wW | P
x-7
x x-7 ?z
. 9L I Les= P
LCj'CV\GL'- Let x= Le,\ﬁ.}[,‘
X =7 = WidH,

Formula gk # Leg = P
Eqpution:  2(%) +2(x-7) =L
Ax + 2K 14 =82

Ux-19 = &2
|4 =Y

Hx = 76
Ix - 96
TR
Xx= 24 (Leaqth)
wid#e s X7

sentencei__The. leng¥h 15 24 inches anel the Width i (7 /1che, .
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In a triangle, the measure of the largest angle is 102°. The measure of the middle angle is 6° more
thar_twice) the measure theémallest!aggle. What are the measures of the middle and smallest

angles? Y“TAJ&/
Smalleaf™ -Sh’\cl“ m dl'uh Iar,?e Toﬁj

o3 b
L et L= 3D

L—Qjﬁ‘ﬁd} LQ,"" K - SMq’“M q’:j"e' medfhfb
A% 46 = M,\Ap//e Dty/& mealurce
= | ja

- 180

% + [2%%6Y ¢ lod

%_Wl\m
+ a2 ;lgo

X 4+ 2x + 6

Ix 4+ JO8 >~ J}{o
=~ Jof  =-l08
SR 2
% I g 3 Zz
T T
3 3 g
(@)

X= 24 (§pallest)

piddle 1 2(24) +6
= 43 4L

Sentence: 'H‘@ J Mg Jlea G‘I/\;q/e s .?“ICT and- = 3Y
Yhe myddile thjlc is 54°,
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